UNIT TWENTY –THREE
Тема: DIRECT CURRENT MOTORS

1. Запишите слова в тетрадь 
Stator - статор, gap - зазор, bar - стержень, ring - кольцо, zero - ноль, fluctuations-колебания, скачки; prime - первичный; to separate - разделять,
 to prevent - предотвращать, препятствовать , to fluctuate - колебаться

2. Translate the word-combinations: переведите словосочетания
a) voltage fluctuations, air gap, steel rings, copper bar, prime mover 
b) fluctuation-free motor – двигатель, не допускающий колебаний, 
vibration-free frame, fault-free design; solidified base, simplified design; electrified area; direct connection drive system, fluctuation-free constant voltage device, newly designed brushless type fault free generator, non-fuse automatically actuated breaker
3. Translate the words, переведите , указав часть речи и словообразующие элементы
simple, to simplify, simplification, solid, to solidify, to electrify, electricity, secondary, stationary, rotary, to rotate, to move, movement, unmovable, to prevent, prevention, to fluctuate, fluctuation, separation, separate 	

4. прочитайте и переведите текст

DIRECT CURRENT MOTORS
D. c. motors actuate installations requiring large starting torques. To them belong, for example, electrified transport (electric trains, trolleybuses, etc.), cranes and other installations. D. c. motors are also used in automatic control systems. 
A d. c. motor consists of two main parts: stationary part (stator) and rotating part (rotor). These parts are separated by an air gap. The stator serves for producing the magnetic field. It includes the poles and a frame manufactured from iron and steel. 
The rotor (armature) comprises a shaft, a core, a commutator and windings. The winding is made of coil sections consisting of insulated copper wire. The commutator includes copper bars insulated from one another. The bars are also insulated from the shaft. The commutator is attached to the shaft by means of metal rings. The armature connected to the load is actuated by a prime mover. The prime mover supplies a torque. 
When a motor is operating at no-load, the armature current is equal to zero or so small that it can be ignored. 
In direct connection of a d.c. motor to a supply circuit the starting current is rather heavy; it may exceed the rated value. This may result in fluctuations in the voltage or some other faults. In order to prevent these faults, d. c. motors should not be connected directly to the line voltage. In order to reduce high starting currents, starting rheostats should be utilized. 

5. Ответьте на вопросы по тексту:

1. What installations do d. c. motors actuate? 
2. What components does a d. c. motor consist of? 
3. By what means are the rotating and the stationary parts separated?
4. What device actuates the armature? 
5. Can the value of current exceed the rated value? 
6. In what case are fluctuations produced? 
7. What is done to prevent fluctuations?

